Algebra 1: 12.3 - 12.5 Test Review Name Period
Factoring Polynomials

1. Factoring is one of the most critical skills you will learn in Algebra 1. In your own words,
describe what it means to factor a polynomial. What actually happens when you factor an
expression? Try use vocabulary words like binomial, terms, multiply, etc. in your explanation.
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Factor out the GCF, if possible. erte the answer in standard form on the blank provided.
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Factor each polynomial. Write the answer in factored form on the blank provided.
Hint: Factor each trinomial into 2 binomial factors.
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Factor each polynomial. Write the answer in factored form on the blank provided.
Hint: Factor each trinomial into 2 binomial factors where a # 1.

14, 5P —m—6 M= -30  15.3p'+14p+16 [)LfILI{)'f“J(g 16. 68 =11h=2 l-lll-12

Factors Fp Fa ctovrs Factors
[ 30 (Mf‘é)(w“(z) I"-lﬁ <P+§)(P+§) 192 1+ ¢12)z-llv
5 5 2
s (Mr (S l) el (p+2)(2p+8) (D (n=12)
S0 OtER=zlv “slide” i.';’ G+¥=IHv G+ (-2)
(M+1)(5m- &) (p+a)(Bp+8) (ol (-2)
17 32 —13v+10 v=1%v+ 20 18. 5#2—=15r 19. 3g2+Hg=—16
EAchors y wslip” grzz 42r Irt-d2r=0 592z 4dg+iz
T30 Move : Z’U/-_/M;\’ﬁ b
. = = L £
“g’,?, 24 (-10)=-13 ?’;f,"_a[zr_qr_m 29°-4g°)% 3713
_ T F RS Factors
(v-3) (v -10) .60 512 .
= 2 de” e RiiD Gr (1=
nsli Ql"(“‘t’—@’) 2
(v-1) (3v-10) 4.15 (3+g)(3—l_g)
(v=1D(3v-10) 2r (dr-a1) (59t ¢)(g =00
29 )

SOLVE each polynomial by factoring. Check for the GCF first. Write the solutions on the
blanks provided.

20. x*+10x+24=0 0 K2 =2k+15 KZ2K-1570 22.21n°=9n 2|n*-91 =0

Fz.ctors Factors 2n* q
] 24 s e =2
212 3.5 d+(-8)"2Y 3 3n
29 (K+3)(K-5)70 2Zn(Tn-3)=0
4 & A+ =10V 31=0 Tn-3=0
(x+dD(x+&) =0 iy A= 37

1.0 &6, 0) (Lo )e( 2. 2) (OO0 g( 2 0 )



